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1. JUST Industries has multiple divisions. One division, AVA Products, makes a component that another
division, MAX, is currently purchasing on the open market. AVA Products currently has a capacity to
produce 500,000 components at a variable cost of $7.50 and a full cost of $10.00. AVA Products has
outside sales of 460,000 components at a price of $12.50 per unit. MAX currently purchases 50,000
units from an outside supplier at a price of $12.00 per unit. Assume that MAX desires to use a single
supplier for its component.

Required (14%):

a. What will be the effect on JUST Industries' operating profit if the transfer is made internally? Assume
the 50,000 units MAX needs are either purchased 100% internally or 100% externally.

b. What is the minimum transfer price?

c. What is the maximum transfer price?
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2. The following data relates to the Miracle Corporation and its Toy Division.

Toy Division sales $ 8,000,000
Toy Division operating income $ 480,000
Toy Division total assets $ 2,000,000
Toy Division current liabilities $ 600,000
Corporate target rate of return 14%
Corporate weighted average cost of capital 10%
Corporate effective tax rate 30%

Required (15%):
a. What is the Toy Division’s sales margin?
b. What is the Toy Division’s capital turnover?
c. What is the Toy Division’s Return on Investment (ROI)?
d. What is the Toy Division’s Residual Income (RlI)?
e. What is the Toy Division’s Economic Value Added (EVA)?

3. ManGo Enterprises had the following cost and production information for April:

Units Produced 20,000
Unit Sales Price $200
Manufacturing Cost Per Unit
Direct Material $50
Direct Labor $25
Variable Manufacturing Overhead $10
Fixed Manufacturing Overhead $20=($400,000/20,000)
Fuill Manufacturing Cost Per Unit $105
Nonmanufacturing Costs
Variable Selling Expenses $80,000
Fixed General and Administrative Costs $75,000

Required (8%):
Inventory increased by 3,000 units during April. How much greater will ManGo Enterprises' income be
under absorption costing than under variable costing?

4. Mint Corp produces three products and is currently short on machine hours since one of its two
machines is down - only 360 hours are available this month. The selling price, costs, labor
requirements, and demand of the three products are as follows:

Product A Product B Product C
Selling price $5.00 $3.00 $5.00
Variable cost per unit $3.50 $2.00 $2.0
Machine hours per unit 0.75 0.25 1
Demand 300 400 210

Required (15%):
a. In what order should Mint prioritize production of the products?
b. How many of each product should be sold while the machine is down to maximize profit?
c. What is the total contribution margin if Mint prioritizes production according to its limited resources?
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